***9(i). @it I 3,

X y z
X’ y> 28 = (yz-D(x-y)y-2)(z
x*-1 y’-1 2°-

| m n

(ii). s B =|1° m? n?

-1 m*-1 n®-1

TR @ 9 A,

B = (Imn—1)(I - m)(m - n)(n —1). (All-18)
X+y+z=1
(iiN). Ix+my+nz=k N EDHee

I2x+m?y +n?z =k?
AX =B TR &M I@ (e @,
det(A) = (I —m)(m —n)(n—1) (J3-17)
(iv). X,Y,7 @ @@ et g&% T 791 0T @R

X2

X 1+x3

y
z

2

y

ZZ

1+y®| =0 g1, w7
1+ 23

(1+xyz)=0.

(i). erg LH.S =

1 1 1) |x y z
= Xyz|X y z |+ 1 1
—X). X2 yz ZZ XZ y2 ZZ
1 1 (I 1 1
= Xyz|X y Z|—|X y z
oyt eyt 7
1 1
= (yz -1)|x y
XZ. 2
1

2

(y+2) (y-2) z

(y-2)
(y+2) (Yy-2)

1
=(2=DEN=D 0y g

=(xyz =D(x=y)(y—2){(y +2) - (x+ y)}
=(xyz-D(X=y)y—-2)(y+z—x-Y)
=(xyz =D(X=y)y—-2)(z—-X)

=R.H.S

(iif). smgisg Same- (i)
(iii). FTEs (e TR

(X+Yy)(x=Y)

(x-y)

= -1.1.
0D x-y)

1 1 1 x| |1
I m niyl=|k
|2 m*  n°|z]| [k®
1 1 1
. det(A) =|I m n
|2 m’> n’



1-1 1-1 1
=|(I-m) (m-n) n
(1?-m?)  (m*-n?) n?

!
[c, =c,—¢c, &c, =c, —C5]

0 0 1
=|(I—m) (m—n) n

(I+m)(l—m) (m+2) (m=n) n
:1(I_m) (m-n)

1(1+m) (x—m) (m+n) (m-n)

1

=M=l men)
=l -m)(m—-n)}{(m+n)—(+m)}
=(-m)(m-n)(m+n—-1—-m)
=(l-m)(m—-n)(n—1)
=R.H.S
(iv). AL (el ST,

2

X X 3

1+x

y ¥y 1xy?=0

2

z 2 1+2°

X x> 1 Ix x

2

X X 1 X X
=y Yy +Xyz|y y? 1|=0
z 7 z z° 1
X x?

(X+y)(x-Y)

(y+2)(y-2)
= @m0y, -

A+xyz) (x=y)(y—2){(y+2)—(x+y)}=0
= [1+xyz) (x=y)(y-2)(y+z-x-y) =0

= (1+xyz) (x—=y)(y—-2)(z—x) =0
~.(A+xyz)=0 (Showed

[~ (X=y)y—-2)(z—x)=0]



